POZDRAVLIJENI OSMOSOLCI!
1. Poglejmo najprej, kako ste dopolnili povedi. Tu so resitve:
1 Smart Alec is waiting for the thieves at the museum.

2 The museum director doesn't think Smart Alec needs to spend the night at
the museum.

3 The thieves don't want to switch on the lights.
4 Sweet Sue sees that the door is open.

5 Sweet Sue switches on the alarm in the room.
6 The police officers take the thieves away.
Mozni odgovor za 1. nalogo v uch. str 70 je:

Smart Alec is at the museum because he wants to catch some thieves. Sweet
Sue was going home from work when she saw the door to the museum open,
and she went in to check what was happening.

Tu pa so resitve naloge 2 na str. 71:
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2. Oglejmo si sedaj nalogo 3 na str. 71.
Kaj pravi Smart Alec?
I must stay awake. | mustn't fall asleep.

MUST - MORAM MUSTN'T — NE SMEM

Kaj pa pomeni, ¢e recemo: | don't have to? Poglejmo nalogo 4a.
1 We must catch those thieves. — Ujeti moramo tiste tatove.
2 You mustn't touch that switch. — Ne smes se dotakniti tistega stikala.

3 You don't have to stay here tonight. — Ni ti treba ostati tu zvecer.

POMNI! Glagol, ki sledi naklonskemu glagolu MUST je vedno v nedolo¢niku.



